
Assembly Instruction
Advice:
1.Power tools are suggested to be used during installation.
2.More than one person may be required to assemble this product.
3.The best advice is not tightening up any screws until the whole piece
is assembled.If having difficulty aligning holes,loosen the screws already
installed and readjust the armrest.
4.To avoid mess-up or mismatch,please use the hardware of each
box to install the furniture in the same box.

Assembly Video

Parts List

NO. Picture Description QTY

S-A
Right Sofa

Back
1

S-B
Center Sofa

Back
1

S-C
Left Sofa

Back
1

S-D
Right Sofa

Seat
1

S-E
Center Sofa

Seat
1

S-F
Left Sofa

Seat
1

S-G
Right Front

Panel
1

S-H
Center Front

Panel
1

S-I
Left Front

Panel
1

S-J Right Arm 1

S-K Left Arm 1

S-L
Short Center
Sofa Legs

2

S-M
Long Center
Sofa Legs

2

S-N Back Cushion 3

S-O Seat Cushion 3

3-Seat Sofa



Parts List

NO. Picture Description QTY

Z1
 Screw
 (M6*15)

16

V
 Screw
 (M6*35)

16

T
 Screw
 (M6*45)

4

S
 Screw
 (M6*60)

14

NO. Picture Description QTY

N
Washer
(M6)

64

M
Nut
(M6)

14

L Allen Key 1

J
Wrench
(M6)

1

The best advice is not tightening up any
screws until the whole piece is assembled.

V+N

X6

S
N

N

M

X8

STEP 1

STEP 2

S-G
S-H

S-I

S-

S-D

E

S-F



The best advice is not tightening up any
screws until the whole piece is assembled.

V+N

X6

V+N

X4

S
N

N

M

X6

STEP 3

STEP 4

STEP 5

S-A

S-B

S-C

S-J

S-K



T+N

X4

S-N

S-O

       
      

STEP 6

STEP 7

FINISH

Please tap the cushions and wait 48 to
72 hours to fully rebound

When finish all the assembly of the
sofa,adjust the middle legs and make
the sofa parallel to the ground.

Z1+N

 X16

S-M

S-L

The best advice is not tightening up any
screws until the whole piece is assembled.



Assembly Instruction
Advice:
1.Power tools are suggested to be used during installation.
2.More than one person may be required to assemble this product.
3.The best advice is not tightening up any screws until the whole piece
is assembled.If having difficulty aligning holes,loosen the screws already
installed and readjust the armrest.
4.To avoid mess-up or mismatch,please use the hardware of each
box to install the furniture in the same box.

Assembly Video

Parts List

NO. Picture Description QTY

C-B Chair Back 1

C-E Chair Seat 1

C-J Right Arm 1

C-K Left Arm 1

C-N Back Cushion 1

NO. Picture Description QTY

C-O Seat Cushion 1

V
 Screw
 (M6*35)

6

U
 Screw
 (M6*40)

4

N
Washer
(M6)

10

L Allen Key 1

Single Chair



STEP 1 STEP 2

STEP 3

STEP 5 FINISH

The best advice is not tightening up any
screws until the whole piece is assembled.

STEP 4

V+N

X2
V+N

X2

V+N

X2

U+N

X2

U+N

X2

C-E
C-B

C-K

C-J

C-N

C-O

Please tap the cushions and wait 48 to
72 hours to fully rebound



Assembly Instruction
Advice:
1.Power tools are suggested to be used during installation.
2.More than one person may be required to assemble this product.
3.The best advice is not tightening up any screws until the whole piece
is assembled.If having difficulty aligning holes,loosen the screws already
installed and readjust the armrest.
4.To avoid mess-up or mismatch,please use the hardware of each
box to install the furniture in the same box.

Parts List

NO. Picture Description QTY

O-A Top Panel 1

O-B
Side Panel
with Legs

2

O-C
Side Panel

without Legs
2

O-D Cushion 1

NO. Picture Description QTY

N
Washer
(M6)

14

V
 Screw
 (M6*35)

14

L Allen Key 1

Ottoman
Assembly Video



STEP 1 STEP 2

STEP 3

FINISH

The best advice is not tightening up any
screws until the whole piece is assembled.

STEP 4

Please tap the cushions and wait 48 to
72 hours to fully rebound

O-A

O-B O-B

O-C O-C

O-D

V+N

X2
V+N

X2

V+N

X5
V+N

X5



Assembly Instruction
Advice:
1.Power tools are suggested to be used during installation.
2.More than one person may be required to assemble this product.
3.The best advice is not tightening up any screws until the whole piece
is assembled.If having difficulty aligning holes,loosen the screws already
installed and readjust the armrest.
4.To avoid mess-up or mismatch,please use the hardware of each
box to install the furniture in the same box.

Assembly Video
Table

Parts List

NO. Picture Description QTY

T-A Solar Lamp 1

T-B Glass Top 1

T-C
Support
Bracket

1

T-D
Long Side
Panels

2

T-E
Short Side

Panels
2

T-F Sofa Leg 4

NO. Picture Description QTY

X
 Screw
 (M6*25)

4

W
 Screw
 (M6*30)

8

V
 Screw
 (M6*35)

8

N
Washer
(M6)

12

L Allen Key 1



STEP 1 STEP 2

STEP 3

FINISH

The best advice is not tightening up any
screws until the whole piece is assembled.

STEP 4

STEP 5

V+N

X4

V+N

X4

X+N

X4
W

X8

T-D

T-D

T-E

T-C

T-F

T-B T-A

When installing the support bracket,pay
attention to the direction.The two bulged
small rod should face to the glass, so
that the solar lamp and the glass can be
parallel.



Solar Panel User Manual

Working Principle:
The solar light operates by converting sunlight into electrical energy through the solar panel,
which is then stored in the rechargeable battery to power the light. During the day, sunlight
hits the solar panel, converting light energy into electrical energy, which is stored in the
battery. At night, the battery releases the stored energy to the LED light, providing
illumination. The solar light features a photosensitive switch that automatically turns off the
light when it detects sufficient brightness in the surroundings. Conversely, when it senses
dim lighting conditions, the light automatically turns on. Additionally, the product includes a
power switch that allows you to manually turn off the light when illumination is not needed.

Working Time:
When exposed to 8 hours of direct sunlight each day, the light can operate continuously for
up to 6 hours. The amount of sunlight converted and stored during the day determines the
duration of illumination at night. This duration may vary depending on the intensity of the
sunlight, the user’s geographic location, weather conditions, and the season. As sunlight
becomes weaker during winter, the lighting duration may be shortened. Optimal
performance is achieved with direct sunlight.

Usage Notes:

 Before first use, allow the solar panel to charge in direct sunlight for 8 hours. This fully
activates the rechargeable battery, which helps extend its lifespan. Long periods of
disuse may cause the battery to self-discharge.

 Place the solar light in a location where it can receive direct sunlight without being
blocked by other objects. Ensure there are no nearby high-intensity light sources, as
they may create a false daylight environment for the solar light.

 Regularly clean the surface of the solar panel to improve the efficiency of light energy
conversion.

 Turn off the main switch if the light will not be used for an extended period.
 During regular use, the switch does not need to be turned off. The solar light will

automatically charge during the day and illuminate at night.
 Variations in the light sensitivity of the solar panel may result in different lighting times,

which is normal.

Testing the Solar Panel’s Functionality:

Daytime Testing: Cover the solar panel completely with your hand or a non-transparent
object (not a light-transmitting one). Turn on the switch; the light should turn on. When the
cover is removed and the solar panel is exposed to light, the light should turn off. If the light
does not turn on when the panel is fully covered and the switch is on, it may indicate that
the battery is not sufficiently charged and needs to be placed in sunlight for charging during
the day.

To
jec

t

To
jec

tTo
jec

t
To

jec
t

To
jec

tTo
jec

t


